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OMB METAR U (All: 323)
mean: 0.2004 rms: 1.5357 std: 1.5226
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mean: 0.4020 rms: 2.1752 std: 2.1377
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OMB METARV (All: 323)
mean: 0.1534 rms: 1.4172 std: 1.4089
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mean: 0.0906 rms: 1.6572 std: 1.6547
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OMB METAR T (Used: 180)
mean: 1.0654 rms: 2.4310 std: 2.1851
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OMA METART (Used: 180)
mean: 0.8394 rms: 1.9545 std: 1.7651
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OMB METAR Q (All: 342)
mean: 1.2021 rms: 2.2874 std: 1.9460
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OMB METAR Q (Used: 178)

mean: 2.3096 rms: 3.1706 std: 2.1721
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OMB METAR P (Used: 179)

mean: 0.6345 rms: 1.3424 std: 1.1829
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OMA METAR P (Used: 179)
mean: -0.1049 rms: 1.0096 std: 1.0041
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